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Q) Ice at 0°C is added to 200gm of water initially at 70°C mav%\g\d m flask. When 50 gm

of ice has been added and has all melted, the temperature -and contents is 40°C,

When a further 80 gm of ice is added and has all melg ’KB erature of whole becomes
f.

10°C. Neglecting heat lost to surroundings the late lon of ice is:
(The specific heat of water is =1 calorle/ oC) - -
PN
\_n—

\ _____ > 7 \
(A) 80 cal/gm ( O . @ </

(B) 70 cal/gmf\ \D?D@\ 0 cal/gm
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Q) Water of volume 2 litre in a container is heated w f1 kW at 27°C. The
lid of the container is open and energy dissipate Q?& J/s. In how much
time temperature will rise from 27°C to 77°C

[Given specific heat of water |s ?g\

(A) 8 min 20s

« |n23 \/
(B) 7 min /\&% (D) 14 mif:
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negligible heat capacity. Calculate the final ma remaining in container.
Given sp. heat water = 4.186 kJ K- kg— /

sp. heat Ice = 2.092 kJ K= kg~

Latent heat of fusion of ic 3\3 7 kJ /( """"" )

(A) 7 K “X? NNNN

(B) 4 kg A > /(D)Zk/g\\ N
/\/

Q) 2 kg ice at — 20°C is mixed with 5 kg water at 20 %\\msulatmg vessel having
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Q) The accompanying graph shows the variation o @
material with Heat (H) supplied to it. At O, the % soljd state Which of the

) of one kilogram

following interpretation from the graph iIs corre
) [P orap CO \t/\ (HaT2)
\E\ X\E%Hl T1) F D -
Q& Sl A AP (HaT)
\ GEJ B(Hthl)
(A)T,is the eI f the so% x
O Heat added —

(B) BC chang m solid to liquid.
(C) (H, presen k eat of fusion of the substance.
(D) (H; — l) repr tent heat of vaporisation of the I|qU|d ;
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equivalent 0.02 kg at 15°C, till the temperature the imeter and its contents
rises to 80°C. The mass of steam condensed ke Iaten eat of steam =
540 cal g1, sp. Heat of water = 4.2 kJ K4 kg \ —

Q) Steam at 100°C is passed into 1.1 kg of water cor&eég calorlmeter of water
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Q) When 10 gm of ice at —20 °C is mixed with 10 gx

of ice melted is —
The latent heat of fusion for ice is 80 cal/gm, The specifi
cal/gm°C, The specific heat of water ﬁﬂ; q

' cal C
'L\\ "
o

at 50 °C, the amount

eat o%qe 1S 0.5
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Q) Heat is supplied to 2kg of solid (initially at —20° \%&\Bﬂwsmnt rate of
|

In the figure. Latent

5kJ/min. Temperature is plotted as a functlon of ti
heat of fusion for solid Is -
00

C_

(A) 10 ki/kg « . kJ/kg@\z :
(B) 5 kilkg— Ek (D) 7. 5@kJ oy
B

-10°C+
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Q) An earthen pitcher loses 1 gm of water per minute d
water equivalent of pitcher Is 0.5 kg and pitcher contal
the time required for the water in pitcher to cool t0-28°

i \

‘;j%vaporation. If the
% g of water, calculate
m original temperature

Is range of

of 30°C. Neglect radiation effects. Latent heat.of vaporization in tf
temperature is 580 Cal/gm and speci /'fc\h,’eat of water is 1 Cal/gm
/\ | - S N A\ |
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(B) 38.6 m‘I}: \\&(D
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Q) A mixture of 250 gm of water and 200 gm of/lqe t0°
water equivalent 50 gm. If 200 gm of steam \O%OE\(L sed through the mixture
then the final amount of water in the mixture will be (Latent Heat-of ice = 80
cal/gm, latent Heat of vaporisation Wéter =54 0'cal/gm an d7§p Ci ﬁc heat of water
=1 cal/gm°C) - C N~

(A) 450 gm ( %% | @ﬁ% ““““
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t %s of content is 10 kg.

Sy
\»\

erature Vs time graph is
ecific h%at of water = 4.2

Q) A bucket contains a mixture of water and ice and
Now this mixture is provided heat at uniform rat Th
plotted. The initial amount of ice in the bucket e
kJ/kg-K and latent heat of ice = 340 kJ/I@] \
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Q) Two solid bodies of equal masses are heated at.t
condition. The change in temperature Is shovﬁsr g\r hi

The ratio of specific heat in solid form shoul =
U PN

(A) 4/3 @g@ 4
(B) 15/8 P \@\ 4 . \j\\\\
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speed of 2 kmh=. The coefficient of friction for

Q) A body of mass 25 kg iIs dragged on a rough hori% »ﬂ\ for one hour with a
the heat produced IS absorbed by the body. If\?\d

neat of body Is

0.1calg?(°C?1)and g=9.8 ms=, then the erature
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